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10. (a) Explain the ‘Linguistic Turn’ occurted in the
Twentieth Century Western Philosophy.
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«E “The Carvaka view is opposed to the
general current ow Indian wggov?o&
thought.” Discuss.
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5. (a)

(b)

6. (a)
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Explain  Wittgenstein’s ~ concept . of
‘Language-games’ embedded in different
‘forms of life’.
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“The Doctrine of Dependent Origination
(Pratityasamutpada) is the foundation of the
.SmoE:mm of Buddha.”’ Discuss. ‘
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What is Scepticism? How is it different from
Agnosticism? Answer in the light of the
philosophical development from Hume to
Kant.
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Give a critical exposition of Satkaryavada-
Asatkdryavada debate.
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Enumerate the distinctive characteristics of
Existentialism, and point out the diversity
among major existentialists.
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Candidates are required to answer five questions in
which Question No. 1 is compulsory
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1. Answer any four of the following questions in not
more than 200 words each : 10x4=40
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(a) How does Aristotle criticize Plato’s theory
of Ideas?
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(b) “‘“What works is true.”” Discuss critically.
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